/2 >
BEC )/ £ LTSN THD
E < E
deducted
degree/angle
2 @] ER Z9 K =
A XD
XA U Th
half-rotation precipitation

246

242

= R N ;('
H|  Hr BOXTE
byl

Vo Y CA
fan—shaped

one rotation

247 9243

. d G
IR ES o K A
diameter protractor

248

244




TARY

integer

NI+

|..

253

nWTAWLs )y kL

0.10
0.1 litre

249

5 B&Ll HA

OE R

number line

254

/N
decimal number

250

L&295TA
izb‘OO):Eé [ 2 7NEUAS
perimeter
(.)is
the decimal point
= 72 /Ep SN :

LA LT ER 5

the section that is
out of the boundary

256

L&23 21mbhbn
IINECER 1T

decimal of
the first place

252




TN

57-<
A

‘*C“\

electronic
calculator

D T

T

area

257

261

NE )

Lot (135 wog2—mn)

1 square
centimeter

B HFEOmE

HIINEITF

7T X k=

area of a rectangle
height X width

258

262

~ALES

1m (1IEHFA—R)

1 square
meter

263

IE SO mE
FHUMNEIT U

—id X —i
Vo XA DITDH VDoXA

area of a square
length of side X length of side

259

~ALES

lkm (12H%mx—R1)

1 square
kilometer

&

N
9 L&

formula

260

264




“ED A

8+37T., 2%~ CTCRMELA

D

estimate the answer with

180-806168 2 in the calculation of
triangle "
8+ 3
ul SR B 312%731T6
I — Z
3 times 21s 0
equilateral
triangle
2ODUDRIBFELN 873564 TN VT2
~h R O
two equal subtract 6 from 8
sides and the answer is 2
2D D 3ZxBALT23
e
REIDZEL
(0=

272

2 angles are equal

borrow 3 and the
result is 23

268




AU
ER

round numbers

277

2 ODEMRIIKZ o7

LA U

two straight lines join

273

10001272072 X L= 03K
A3

numbers deficient for
the number 1000

278

=l

D)

B 3) H><

two angles at the ends

274

TFDOALETD AN %}:&)55{
+5 Lx
round numbers to the formula
1000 place
B¢ FLoTWVAHT
L&
x F

drop

280

mixed formulas

276




LIk & g0 ki
B3] x %
harvested carry over
quantity
285 281

rohe g = D2 L L» 2 IS

LB DZE 2 ZF R

7z A Iz

the sum in addition r ound off

286

282

A X g B

[0} A iz

remainder in

LB 1TFTzD3 K

Iz (0= 79

the one unit round number

subtraction from the top
287 283
. ., BE EB21F 7003 VK
NTEDZE 2 % FR
) 2% A +3
A I
product in the second unit round

multiplication

288

number from the top

284




QEEIN T- 1745 DES 60 FITTHHH

the length of one part |to get a discount of 60
when divided into 2 yen

equal parts

293 289

Im®dD2453 D1 1 AN D O

the expenses for

1/2 of one meter 1
person

294 290

34571 7 B (L TND)

both (are done)

ex.They are wearing both

one third 1/3 a muffler and gloves.

They are playing both
baseball and soccer.

295 291

yA 25 172h 2720 372
g
fractions Ist step 2nd step

3rd step

296 292




7 oHX—IFXFT AV DG

the cookie is 3 times
that of caramels

301

297

2 HFE)
3 RS

numerator
improper fraction
denominator
302 298
1 -LSAT S
_ 0) :/\ - N
g T oK
two of 1/4 mixed fraction
303 9299
45 L D15 133 23 cm

seven of 1/10

304

one side is 4 cm

300




42195m =(  )km
42.195 km

309

100D 10f%i%, [1000]
10 times of 100 is 1000
[1014%(10 times)
1000 100

(10145 1(1/10)
100010453 D 11X, 100

1/10 of 1000 is 100
305

1. 0.1 (10)f

1 is ten times 0.1

310

100m---1kmd 10437 D1

0.1 km

100m = 1/10 of a kilometer

306

11%.0.01> (100)f:Z

1 is (100) times 0.01

311

10m:--0.1kmD 104531
0.01 km

1/10 of 0.1 km is 0.01km

307

11Z. 0.001D(1000)f%

1 is (1000) times 0.001

312

Im---0.01km 1043 D1
0.001 km

1 mis 1/10 of 0.01 km

308




IINEECERS 3L

01 . L
[10]
the third place in the
fraction
317 313
3.9111%
1% 32 1
0.1% 9z 0.01 _ _
0.01% 1= B
0. 001% 1=
HhE-3K [100]
3.911 is all together
31s
90.1s
10.01
1 0.001
318 314
3.911
L1 o thousandths place
1000
0.001 1
— ﬁ) Db hundredths place [1000]

1 MfiL tenths place
10

104z ones place
319 315
25.61% JINE /—*"5,‘2 Y
0.1%256 45 7- %% M2

25.6 1s 206 of 0.1

320

the second place in
the fraction

316




